KEYWORTH CRICKET CLUB - 1988 SEASON

President: M Elliott Chairman: M Stewart. Ground: Rectory Field.

Vice Presidents: B Coyne, J Dealler, J Disney, A Ford, A Gladstone, H G Gray, J Hartley, A Hill,

G Musson, F Palmer, J Tinsley, M White, A Wood.

Gen Sec: N Palmer Fixture Sec: J Childs Treasurer: J Woodford

1st XI Captain: D Tinsley Vice Capt: S King Evening League Capt: D Baldrey

2nd XI Captain: B Cannell Vice Capt: G Robson Junior Capt: G Baker.

Youth Team Manager: B Baker

Groundsman: M White. Umpire: M Elliott

Review of the Season:

In a remarkable 2nd XI match at home to Sutton Bonnington, Chelsea goalkeeper Kevin Hitchcock made himself available at the last minute and Ian Driver stood down for him, Hitchcock then proceeded to smash twelve "6's" & twelve "4's" in a club individual record score of 165 out of a club record score of 311 for 4 off 45 overs. Hitchcock & Ernie Lay put on a 3rd wicket partnership of 229, Lay contributing 102 not out. Hitchcock was later reprimanded for playing for the reason that as a goalkeeper he could have damaged his fingers so near to the beginning of a new football season. The 311 score set a new South Notts Village league record.

Presentations made to...

Gunn Batting Trophy for the Best Average - Norman Whittlestone

Highest Score Trophy – Kevin Hitchcock

2nd XI Batting Award for Best Average – Ernie Lay

Bowling Trophy for Best Average - Tim Hepburn

Best Bowling Performance Trophy – Gary Robson

2nd XI Bowling Trophy for Best Average – John Baldrey

Young Player Trophy – Geoff Baker

1st XI LEAGUE MATCH RESULTS...

07.05.1988	OXTON	Н	Won by 6 wkts
14.05.1988	RUDDINGTON	A	Won by 3 wkts
21.05.1988	CAYTHORPE	A	Lost by 6 runs
28.05.1988	STOKE BARDOLPH	Н	Won by 8 wkts
04.06.1988	GEDLING	A	Won by 22 runs
11.06.1988	GOTHAM VILLAGE	Н	Lost by 30 runs
18.06.1988	CALVERTON	A	Won by 2 wkts
25.06.1988	ATTENBOROUGH	A	Lost by 59 runs
02.07.1988	PLUMTREE	Н	Lost by 8 wkts
09.07.1988	OXTON	A	Lost by 8 wkts
16.0719.88	RUDDINGTON	Н	Match abandoned - rain
23.07.1988	CAYTHORPE	Н	Lost by 6 wkts
30.07.1988	STOKE BARDOLPH	A	Won by 50 runs
06.08.1988	GEDLING	Н	Lost by 8 wkts
13.08.1988	GOTHAM VILLAGE	A	Lost by 7 wkts
20.08.1988	CALVERTON	Н	Lost by 4 wkts
27.08.1988	ATTENBOROUGH	Н	Lost by 68 runs
03.09.1988	PLUMTREE	A	Won by 24 runs

Save & Prosper South Nottinghamshire Village Cricket League SENIOR LEAGUE CUP...

05.06.1988 1st Round STOKE BARDOLPH A

Newark Advertiser Ransome Hospital CHARITY CUP...

07.06.1988 Qfy Rd BRITISH SUGAR A Lost on concession

HIGHEST SCORE: 142-8 KEYWORTH v STOKE BARDOLPH (30.07.1988)

LOWEST SCORE: 97 KEYWORTH v GOTHAM VILLAGE (13.08.1988)

Save & Prosper South Nottinghamshire	Village	Cricket	LEA	GUE T	able –	PREMIER	R DIVISION:
	Pld	W	L	Tie	NR	Pts	
			_				

		114	* *	L	110	1117	1 13
1	GOTHAM VILLAGE	18	15	3	0	0	142
2	CAYTHORPE	18	13	3	0	2	123
3	ATTENBOROUGH	18	13	3	0	2	121
4	OXTON	18	9	8	0	1	83
5	PLUMTREE	18	8	8	0	2	78
6	CALVERTON	18	7	8	0	3	70
7	KEYWORTH	18	7	10	0	1	64
8	GEDLING	18	4	12	0	2	43
9	RUDDINGTON	18	3	13	0	2	31
10	STOKE BARDOLPH	18	3	14	0	1	31

	Matches	Innings	Not Out	HS	Total Runs	Ave
N WHITTLESTONE	13	13	2	31*	277	21.31
D TINDSLEY	15	15	1	59	260	18.57
S KING	12	12	0	63	194	16.17
D BALDREY	17	16	0	62	243	15.19
T WRIGHT	16	16	0	65	240	15.00
R OGLE	15	14	0	27	154	11.00
J CHILDS	12	12	2	18	107	10.70
M STEWART	11	9	2	15	62	8.86
A RANDALL	16	13	5	13	66	8.25
T HEPBURN	12	10	3	7	35	5.00
P KEELING	8	7	0	7	27	3.86
Also Batted						
K HITCHCOCK	3	3	0	18	39	13.00
P ALLAN	6	5	2	15	31	10.33
N PALMER	2	1	0	9	9	9.00
E LAY	3	3	0	11	20	6.67
J BUTTERY	5	4	2	4*	13	6.50
S MEEK	5	5	0	9	31	6.20
I DRIVER	2	2	0	5	10	5.00
G ROBSON	10	6	3	10	14	4.67
A ELLIOTT	3	3	0	9	13	4.33
R HEELEY	8	7	2	11*	18	3.60
R RATHBONE	1	0	0	0	0	

Best off the Bat...

Runs	Player		Opposition	Venue	Date
65	T WRIGHT	V	STOKE BARDOLPH	A	30.07.1988
63	S KING	V	CALVERTON	A	18.06.1988
62	D BALDREY	V	STOKE BARDOLPH	A	30.07.1988
59	D TINDSLEY	V	PLUMTREE	Н	02.07.1988

Leading "6" Hitters of the season...

D BALDREY 2

Rest Ratting	Partnerships	of the	Season
Dest Datting	1 at the ships	or the	Scason

Wkt	Runs	Partners	Opposition	Date
1st			**	
2^{nd}				
3^{rd}	50	N WHITTLESTONE & T WRIGHT	STOKE BARDOLPH	30.07.1988
4^{th}	87	T WRIGHT & D BALDREY	STOKE BARDOLPH	30.07.1988
5 th				
6^{th}				
7^{th}				
8^{th}				
9 th				
10^{th}				

1st XI BOWLING Averages (qualification 8 wickets or 60 overs)

	Overs	Maidens	Runs	Wkts	Ave
G ROBSON	60.1	9	117	16	7.31
D TINDSLEY	131.1	20	375	27	13.89
T HEPBURN	84.3	16	251	20	12.55
A RANDALL	137.1	22	412	27	15.26
R OGLE	129.0	19	393	22	17.86
Also bowled					
P ALLAN	28.2	8	82	6	13.67
N PALMER	13.0	1	57	4	14.25
R HEELEY	39.3	6	141	7	20.14
M STEWART	45.4	9	143	5	28.60
S MEEK	11.0	2	32	1	32.00
T WRIGHT	6.5	1	38	1	38.00
P KEELING	2.0	0	9	0	

Best with the Ball...

Figures	Player		Opposition	Venue	Date
7-17	G ROBSON	V	STOKE BARDOLPH	Н	28.05.1988
6-39	T HEPBURN	V	STOKE BARDOLPH	A	30.07.1988
5-20	D TINDSLEY	V	GOTHAM VILLAGE	Н	11.06.1988
5-30	D TINDSLEY	V	RUDDINGTON	A	14.05.1988

1st XI CATCHING & STUMPING	G:	
	Catches	Stumpings
S KING	10	1
D TINDSLEY	9	
N WHITTLESTONE	9	
D BALDREY	8	
T WRIGHT	8	
R OGLE	7	
J CHILDS	5	
A RANDALL	4	
M STEWART	4	
G ROBSON	3	
T HEPBURN	2	
K HITCHCOCK	2	
P KEELING	2	
E LAY	2	0
J BUTTERY	1	
S MEEK	1	
N PALMER	1	

2nd XI LEAGUE MATCH RESULTS...

07.05.1988	FARNDON	A	Lost by 14 runs
14.05.1988	WILLOUGHBY	Н	Won by 2 runs
21.05.1988	WOODBOROUGH	Н	Lost by 3 wkts
28.05.1988	SUTTON BONNINGTON	A	Lost by 118 runs
04.06.1988	GEDLING II	Н	Won by ?
11.06.1988	GOTHAM VILLAGE II	A	Lost by 7 runs
18.06.1988	COTGRAVE	Н	Lost by 5 wkts
25.06.1988	ATTENBOROUGH II	Н	Lost by 10 wkts
02.07.1988	HICKLING	A	Won by 20 runs
09.07.1988	FARNDON	Н	Won by 32 runs
16.07.1988	WILLOUGHBY	A	Match abandoned - rain
23.07.1988	WOODBOROUGH	A	Lost by 2 wkts
30.07.1988	SUTTON BONNINGTON	Н	Won by 240 runs
06.08.1988	GEDLING II	A	Won by 7 wkts
13.08.1988	GOTHAM VILLAGE II	Н	Lost by 8 wkts
20.08.1988	COTGRAVE	A	Lost by 7 wkts
27.08.1988	ATTENBOROUGH II	A	Lost by 7 wkts
03.09.1988	HICKLING	Н	Lost by 42 runs

Save & Prosper South Nottinghamshire Village Cricket LEAGUE Table – DIVISION THREE:

		Pld	W	L	Tie	NR	Pts
1	ATTENBOROUGH II	18	14	4	0	0	122
2	SUTTON BONNINGTON	18	12	6	0	0	109
3	HICKLING	18	10	7	0	1	95
4	WOODBOROUGH	18	10	6	0	2	94
5	WILLOUGHBY	18	10	6	0	2	90
6	COTGRAVE	18	9	8	0	1	83
7	GOTHAM VILLAGE II	18	6	11	0	1	58
8	KEYWORTH II	18	6	11	0	1	58
9	FARNDON	18	5	13	0	0	48
10	GEDLING II	18	3	13	0	2.	34

HIGHEST SCORE: 311-4 KEYWORTH v SUTTON BONNINGTON (30.07.1988)

LOWEST SCORE: 44 KEYWORTH v SUTTON BONINGTON (28.05.1988)

2 nd XI BATTING Averages (qualification: 8 Completed Innings)									
	Matches		nings	Not Out	HS	Total Runs	s Ave		
E LAY	13		13	2	102*	322	29.27		
A ELLIOTT	12		12	0	63	219	18.25		
J WOODFOR	D 12		12	0	26	184	15.33		
M CUMBERI	PATCH 14		14	1	50*	185	14.23		
B CANNELL	17		17	0	34	228	13.41		
S MEEK	12		12	0	20	94	7.83		
B MILLS	16		16	3	50	98	7.54		
R SPENCER	10		9	0	12	57	6.33		
K HORSLEY	15		13	5	8*	43	5.38		
Also Batted	13		10	J	Ü	15	3.30		
K HITCHCOO	CK 4		4	0	165	213	53.25		
S KING	3		3	0	31	71	23.67		
M STEWART			5	0	17	64	12.80		
R RATHBON			4	1	18	30	10.00		
I DRIVER	5		5	0	13	49	9.80		
G ROBSON	2		2	1	7	9	9.00		
P KEELING	6		6	0	14	55	9.17		
J BUTTERY	4		3	0	12	17	5.67		
J BALDREY	5		5	2	7	15	5.00		
I WOOLLEY	8		6	2	13*	20	5.00		
T HEPBURN	3		3	0	10	16	5.33		
G BAKER	9		8	2	7	26	4.33		
N PALMER	5		5	1	7	12	3.00		
Best off the Bat	5		3	1	,	12	3.00		
Runs Player			Oppo	sition		Venue	Date		
	CHCOCK	V		ON BONN	INGTON	Н	30.07.1988		
102* E LAY		v		ON BONN		Н	30.07.1988		
68* E LAY		v		LING II	moron	A	06.08.1988		
63 A ELL		v		ENBOROUG	3H	A	27.08.1988		
56 E LAY		v		DBOROUG		A	23.07.1988		
	MBERPATCH	v		LING	,11	Н	03.09.1988		
50 A ELL		V		NDON		Н	09.07.1988		
50 B MIL		V		LING		A	02.07.1988		
Best Batting Partnership		v	HICK	LING		А	02.07.1988		
Wkt Runs Parti			(Opposition			Date		
1 st	1015			pposition			Date		
2 nd									
-	TCHCOCK & E LA	λY	5	SUTTON BO	ONNINGTO	ON	30.07.1988		
4 th	1 0110 0 011 00 11 11		~				20.07.1200		
5 th									
$6^{ ext{th}}$									
7 th									
8 th									
9 th									
10 th									
Leading "6" Hitters of th	ie season								

Leading "6" Hitters of the season...

K HITCHCOCK 12 *

* All these 6's scored in one match v Sutton Bonnington (30.07.1988)

2nd XI BOWLING Averages (qualification 8 wickets or 60 overs)

			Overs	Ma	idens	Runs	Wkts	Ave	
	J BALDREY		28.2		3	113	8	14.13	
	I WOOLLEY		78.1		12	271	17	15.94	
	S MEEK		75.1		13	243	15	16.20	
	B MILLS		106.4		15	349	20	17.45	
	K HORSLEY		138.2		21	466	26	17.92	
	N PALMER		49.5		7	172	9	19.11	
Also bowl	ed								
	S KING		20.0		4	58	6	9.67	
	K HITCHCOO	CK	11.1		3	35	3	11.67	
	T HEPBURN		27.2		6	103	7	14.71	
	J BUTTERY		5.0		1	17	1	17.00	
	M STEWART		44.2		7	144	7	20.57	
	M CUMBERP	ATCH	9.0		1	25	1	25.00	
	R RATHBON	E	4.0		0	26	1	26.00	
	G ROBSON		17.1		2	58	2	29.00	
	P KEELING		2.0		0	9	0		
	R SPENCER		2.0		0	8	0		
Best with	the Ball								
	Figures	Player			Oppositi	on		Venue	Date
	5-18	S MEEK		V	WILLO	UGHBY		Н	14.05.1988
	5-18	S KING		V	HICKLI	NG		A	02.07.1988
	5-29	T HEPBURN		V	WOODI	BOROUOGH	[H	21.05.1988

2 nd XI CATCHING & STUMPIN	G:	
	Catches	Stumpings
E LAY	9	0
J WOODFORD	8	0
A ELLIOTT	6	
K HORSLEY	6	
B CANNELL	5	
B MILLS	5	
I WOOLLEY	5	
M CUMBERPATCH	4	
P KEELING	4	
S MEEK	4	
G BAKER	3	
J BALDREY	3	
R SPENCER	3	
S KING	2	
R RATHBONE	2	
M STEWART	2	
I DRIVER	1	
N PALMER	1	

MATCI	H RESULTS	in NOTTINGHAM EVE	ENING	LEA	.GUI	E Division	n THREE:
	05.05.88	TRENTSIDE			A		
	10.05.88	JESSOPS			Η		
	17.05.88	NOTTS GPO			Η		
	31.05.88	GEDLING VILLAGE			Η	Won by	25 runs
	14.06.88	PAKISTAN KASHMIR	_		Η	Won by	16 runs
	21.06.88	TRENTSIDE			Η		
	23.06.88	ELLERSLIE			Η	Lost by 2	22 runs
	28.06.88	JESSOPS			A		
	04.07.88	NOTTS GPO			A		
	20.07.88	GEDLING VILLAGE			A	Won by	17 runs
	26.07.88				A		
	01.08.88	PAKISTAN KASHMIR	1		A	Lost by	52 runs
Notting	ham Evening	LEAGUE Division Thro	ee Tab	le:			
Ü	C		Pld	W	L	Tie	Pts
1	ELLERSL	<u>IE</u>	12	10	2	0	70
2	NOTTS G	PO	12	9	3	0	66
3	KEYWOI	RTH	11	6	5	0	41
4	GEDLING	G VILLAGE	12	5	7	0	38
5	PAKISTA	N KASHMIR	12	5	7	0	36
6	TRENTSI	DE	12	4	8	0	30
7	JESSOPS		11	2	9	0	18
MATCI	H RESULTS	in EVENING FRIENDI	IES:				
	15.06.1988	WINTHORPE			Η	Won by	16 runs
	01.07.1988	PLUMTREE				Won by	
	05.07.1988	PLUMTREE MILTON				Lost by	
	00.08.1988	MAKRO			Η		4 wkts
EDDIE	MARSHALI	CUP:					
	01.06.1988	KNOSSINGTON				Н	Won by 28 runs
	00.07.1988	ROLLS ROYCE (Semi	Final)			Н	?
EVENI	NG LEAGUE	KO CUP:					
2,21,1	16.06.1988	REDCLIFFE RAMBLE	RS			A	?
SALAN	IAN CUP:						
SALAIV.	14.06.1988	CLARENDON PARK				A	Won by 14 runs
	20.06.1988	BULWELL				A	7
	28.06.1988	MARKET OVERTON	(Semi	Finall		N	Lost by 4 wkts
	20.00.1700	WHITE OVERTON	(Senii)	. 11141)		14	Losi by T WKIS

EVENING LEAGUE XI BATTING Averages (no qualification)

	Matches	Innings	Not Out	HS	Total Runs	Ave
S KING	12	12	1	102	345	31.36
N PALMER	11	7	6	12*	29	29.00
S MEEK	6	6	1	28	88	17.60
T HEPBURN	13	8	4	21	66	16.50
J BUTTERY	10	9	2	28	92	13.14
K HITCHCOCK	3	3	0	23	39	13.00
J CHILDS	14	14	0	48	166	11.86
D BALDREY	14	13	3	30*	108	10.80
G BAKER	10	6	2	15	36	9.00
T WRIGHT	10	10	1	26	66	7.33
M STEWART	2	1	0	7	7	7.00
R RATHBONE	4	4	0	19	24	6.00
S DAFT	4	4	1	9	15	5.00
S WATKINSON	3	1	0	5	5	5.00
A RANDALL	13	6	0	15	28	4.67
M CUMBERPATCH	2	2	0	8	8	4.00
I DRIVER	3	3	0	8	11	3.67
J BALDREY	7	4	0	5	7	1.75
J WOODFORD	2	2	0	2	3	1.50
J DRING	1	1	0	0	0	0.00
R A BAKER	1	0	0	0	0	
Jeff BALDREY	2	1	1	2*	2	
R HEELEY	1	1	1	42*	42	
J MILLS	1	0	0	0	0	
I RANDALL	1	0	0	0	0	
(/ CM TTA 0						

Leading "6" Hitters of the season...

S KING	11
J BUTTERY	4
K HITCHCOCK	3
S MEEK	3
D BALDREY	2
J CHILDS	2

EVENING LEAGUE XI BOWLING Averages (no qualification)

	Overs	Maidens	Runs	Wkts	Ave
J BALDREY	4	0	16	4	4.00
T WRIGHT	4	0	16	2	8.00
G BAKER	5	0	27	3	9.00
D BALDREY	2	0	9	1	9.00
J CHILDS	2	0	19	2	9.50
T HEPBURN	39.4	1	211	18	11.72
S KING	5	0	26	2	13.00
R RATHBONE	5	0	39	3	13.00
A RANDALL	28.1	2	138	10	13.80
J BUTTERY	33.4	2	179	12	14.92
N PALMER	35	0	260	11	23.63
S MEEK	8	0	62	1	62.00
S WATKINSON	3	0	18	0	

EVENING LEAGUE XI CATCHING & STUMPING:

	Catches	Stumpings
J CHILDS	5	
T WRIGHT	5	
T HEPBURN	4	
G BAKER	3	
S KING	2	0
S MEEK	2	
A RANDALL	2	
Jeff BALDREY	1	
J BUTTERY	1	
S DAFT	1	
R RATHBONE	1	
J WOODFORD	1	0

Pts

MATCH RESULTS in NOTTINGHAM YOUTH LEAGUE Under 17 SOUTH & EAST:

16.05.1988	PLUMTREE	Α
26.05.1988	GEDLING VILLAGE	Н
06.06.1988	ELLERSLIE	A
16.06.1988	OLD NOTTINGHAMIANS	Н
20.06.1988	STOKE BARDOLPH & BJ	A
30.06.1988	CAYTHORPE	Н
06.07.1988	RUDDINGTON	A

Nottingham Youth LEAGUE Under 17 South & East Table: Pld W L Tie

1	<u>PLUMTREE</u>	7	7	0	0	28
2	CAYTHORPE	7	5	1	1	22
3	ELLERSLIE	7	4	3	0	16
4	OLD NOTTINGHAMIANS	6	3	1	2	16
5	STOKE BARDOLPH	6	2	4	0	8
	& BURTON JOYCE					
6	KEYWORTH	6	1	4	1	6
7	GEDLING VILLAGE	6	1	5	0	4
8	RUDDINGTON	7	1	6	0	4